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UPSC Civil Services Preliminary Exam Paper 1 Key for Set C 

Answers with Explanation / Solution and Sources 

1. Under the Indian Constitution, concentration of wealth violates.

(a) the Right to Equality

b) the Directive Principles of State Policy

(c) the Right to Freedom

d) the Concept of Welfare –

Solution:B 

Explanation: Socialistic Principles 

1. To promote the welfare of the people by securing a social order permeated by

justice–social, economic and political and to minimise inequalities in income, status,

facilities and opportuni-ties (Article 38)

2. What is the position of the Right to Property in India?

(a) Legal right available to citizens only

b) Legal right available to any person

(c) Fundamental Right citizens only

(d) Neither Fundamental Right nor legal right

Solution: B 

Explanation: The Constitution confers the following rights and privileges on the 

citizens of India (and denies the same to aliens): 



 
 

       40-1-50/1, 2nd Floor, Above Big C, Opp. BSNL Office, M.G.Road, VIJAYAWADA.Ph:9494 688188 
 

1. Right against discrimination on grounds of religion, race, caste, sex or place of 

birth (Article 15). 

2. Right to equality of opportunity in the matter of public employment 

(Article 16). 

3. Right to freedom of speech and expression, assembly, association, movement, 

residence and profession (Article 19). 

4. Cultural and educational rights (Articles 29 and 30). 

Parliament passed the Constitution 44th Amendment which made right to 

property(article 31) an ordinary legal right under Article 300-A. 

 

3. What was the exact Constitutional status of India on 26th January, 1950? 

a) A Democratic Republic 

b) A Sovereign Democratic Republic 

c) A Sovereign Secular Democratic Republic 

d) A Sovereign Socialist Secular Democratic Republic 

Solution:B 

Explanation: Preamble has been amended by the 42nd Constitutional Amendment 

Act (1976), which added three new words–Socialist, Secular and Integrity. 

 

4. Constitutional government means  

(a) a representative government of a nation with federal structure  

(b) a government whose Head enjoys nominal powers 

c) a government whose Head enjoys real powers 

d) a government limited by the terms of the Constitution  
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Solution: D 

Explanation: https://ncert.nic.in/textbook/pdf/hess301.pdf 

 

 

 

 

5. With reference to India, the terms ‘Halbi’, Ho and Kui' pertain to  

a) dance forms of Northwest India  

(b) musical instruments 

(c) pre-historic cave paintings 

d) tribal languages  

Solution: D 

Explanation: Halbi is an Eastern Indo-Aryan language, transitional between Odia 

and Marathi. It is spoken by 500,000 people across the central part of India. 

Ho is a Munda language of the Austroasiatic language family spoken primarily in 

India by about 1.04 million people 

 

6. Consider the following statements in available to respect of Bharat Ratna and 

Padma Awards :  

1. Bharat Ratna and Padma Awards are titles under the Article 18(1) of the 

Constitution of India 

2. Padma Awards, which were instituted in the year 1954, were suspended only once.  

https://ncert.nic.in/textbook/pdf/hess301.pdf
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3. The number of Bharat Ratna Awards is restricted to a maximum of five in a 

particular year. 

Which of the above statements are not correct?  

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

d) 1, 2 and 3 

Solution: D 

Explanation: The recommendations for the Bharat Ratna are made by the Prime 

Minister to the President, with a maximum of three nominees being awarded per 

year. 

https://padmaawards.gov.in/AboutAwards.aspx 

 

7. Consider the following statements 

Statement 1:  The United Nations Capital Development Fund (UNCDF) and the 

Arbor Day Foundation have recently recognized Hyderabad as 2020 Tree City of the 

World. 

Statement 2:  Hyderabad was selected for the recognition for a year following its 

commitment to grow and maintain the urban forests. 

Which one of the following is correct in respect of the above statements?  

(a)  Both Statement 1 and Statement 2 are correct and Statement 2 is the correct 

explanation for Statement 1 

(b) Both Statement 1 and Statement 2 are correct but Statement 2 is not the correct 

explanation for Statement 1  

(c) Statement 1 is correct but Statement 2 is not correct  
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(d) Statement 1 is not correct but Statement 2 is correct  

Solution: D 

Explanation: In a unique distinction, Hyderabad has become the only city in India to 

be recognized as a ‘Tree City of the World’ by the Arbor Day Foundation and the 

Food and Agriculture Organization (FAO) of the United Nations. Hyderabad is 

placed alongside 119 other cities from 63 countries. 

Hyderabad is the only city from India to have been recognised as a 2020 Tree City 

of the World by the Arbor Day Foundation and the Food and Agriculture 

Organization (FAO) for its commitment to growing and maintaining urban forests. 

https://www.thehindubusinessline.com/news/hyderabad-a-tree-city-of-the-

world/article33874032.ece 

 

8. Consider the following statements in respect of the Laureus World Sports 

Award which was instituted in the year 2000 :  

1. American golfer Tamer  Woods, was the first winner of this award. 

2. The award was received mostly by 'Formti la players so far.  

3. Roger Federer received this award maximum number of times compared to others. 

Which of the above statements are correct?  

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 37C 

Solution: D 

Explanation:https://www.laureus.com/world-sports-awards/2021 

https://www.thehindubusinessline.com/news/hyderabad-a-tree-city-of-the-world/article33874032.ece
https://www.thehindubusinessline.com/news/hyderabad-a-tree-city-of-the-world/article33874032.ece
https://www.laureus.com/world-sports-awards/2021
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9. Consider the following statements in respect of the 32nd Summer Olympics:  

1. The official motto for this Olympics is 4A New World'.  

2. Sport Climbing, Surfing, Skateboarding, Karate and Baseball are included in this 

Olympics.  

Which of the above statements is/are correct?  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2  

(d) Neither 1 nor 2  

Solution:B 

Explanation: The change adds the word “together” after an en dash to “Faster, 

Higher, Stronger”. The new Olympic motto now reads: “Faster, Higher, and 

Stronger – Together”. 

The International Olympic Committee (IOC) today agreed to add baseball/softball, 

karate, skateboard, sports climbing and surfing to the sports programme for the 

Olympic Games Tokyo 2020. 

https://olympics.com/ioc/olympic-motto 

https://olympics.com/ioc/news/ioc-approves-five-new-sports-for-olympic-games-

tokyo-2020 

 

10. Consider the following statements in respect of the ICC World Test 

Championship: 

1. The finalists were decided by the number of matches they won.  

https://olympics.com/ioc/olympic-motto
https://olympics.com/ioc/news/ioc-approves-five-new-sports-for-olympic-games-tokyo-2020
https://olympics.com/ioc/news/ioc-approves-five-new-sports-for-olympic-games-tokyo-2020
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2. New Zealand was ranked ahead of England because it won more matches than

England.

Which of the above statements is/ are correct? 

(a) I only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Solution: B 

Explanation: It featured nine of the twelve Test playing nations each of whom was 

scheduled to play a Test series against six of the other eight teams. Each series 

consisted of between two and five matches, so although all teams were to play six 

series (three at home and three away), they were not scheduled to play the same 

number of Tests. Each team was able to score a maximum of 120 points from each 

series and the two teams with the most points at the end of the league stage would 

contest the final. In the case of a draw or a tie in the final, the two teams playing the 

final would be declared joint champions. However, the COVID-19 pandemic 

impacted on the Championship, with several rounds of matches being postponed or 

cancelled. In November 2020, the ICC announced that the finalists would be 

decided by percentage of points earned. 

https://en.wikipedia.org/wiki/2019%E2%80%932021_ICC_World_Test_Champio

nship 

https://www.icc-cricket.com/media-releases/2161864 

11. Consider the following statements :

1. 'Right to the City' is an agreed human right and the UN-Habitat monitors the

commitments made by each country in this regard.

https://en.wikipedia.org/wiki/2019%E2%80%932021_ICC_World_Test_Championship
https://en.wikipedia.org/wiki/2019%E2%80%932021_ICC_World_Test_Championship
https://www.icc-cricket.com/media-releases/2161864
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2. 'Right to the City' gives every occupant of the city the right to reclaim public 

spaces and public participation in the city.  

3. 'Right to the City' means that the State cannot deny any public service or facility 

to the unauthorized colonies in the city. 

Which of the statements given above is/are correct?  

(a) 1 only  

(b) 3 only  

(c) 1 and 2  

(d) 2 and 3  

Solution: D 

Explanation: This idea has been taken up more recently by social movements, 

thinkers, and certain progressive local authorities as a call to action to reclaim the 

city as a co-created space: a place for life detached from the growing effects that 

commodification and capitalism are proposed to have had over social interaction and 

the rise of posited spatial inequalities in worldwide cities throughout the last two 

centuries. 

https://www.tatatrusts.org/upload/pdf/urban-policies-and-the-right-to-the-city-in-

india.pdf  

https://en.wikipedia.org/wiki/Right_to_the_city 

 

12. With reference to India, consider the following statements: 

I. Judicial custody means an accused is in the custody of the concerned magistrate 

and such accused is locked up in police station, in jail.  

2. During judicial custody, the police officer in charge of the case is not allowed to 

interrogate the suspect without the approval of the court. 

https://www.tatatrusts.org/upload/pdf/urban-policies-and-the-right-to-the-city-in-india.pdf
https://www.tatatrusts.org/upload/pdf/urban-policies-and-the-right-to-the-city-in-india.pdf
https://en.wikipedia.org/wiki/Right_to_the_city
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Which of the statements given above is/are correct?  

(a) I only  

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2  

Solution: B 

Explanation: https://districts.ecourts.gov.in/sites/default/files/fct.pdf 

Judicial Custody means an accused is in the custody of the concerned Magistrate. In 

police custody, the accused is lodged in police station lockup while in judicial 

custody, it is the jail. 

During Judicial Custody, the police officer in charge of the case is not allowed to 

interrogate the suspect. However, the court may allow the interrogations to be 

conducted if it opines the interrogation being necessary under the facts produced 

before the court. 

13. With reference to India, consider the following statements : 

I. When a prisoner makes out a sufficient case, parole cannot be denied to such 

prisoner because it becomes a matter of his/her right  

2. State Governments have their own Prisoners Release on Parole Rules.  

Which of the statements given above is/are correct?  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2 

(d) Neither 1 nor 2  

Solution: B 

https://districts.ecourts.gov.in/sites/default/files/fct.pdf
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Explanation:https://www.nolo.com/legal-encyclopedia/how-does-parole-work.html 

Parole Is Not a Right 

Under the traditional parole system, parole is a privilege for prisoners who seem 

capable of reintegrating into society. It's not a right.  

State law can provide that some kinds of convictions make prisoners ineligible for 

parole or eligible only after a very long prison sentence. 

 

14. At the national level, which ministry is the nodal agency to ensure effective 

implementation of the Scheduled Tribes and Other Traditional Forest Dwellers 

(Recognition of Forest Rights) Act, 2006?  

(a) Ministry of Environment, Forest and Climate Change  

(b) Ministry of Panchayati Raj  

(c) Ministry of Rural Development  

(d) Ministry of Tribal Affairs  

Solution: D 

Explanation: The Scheduled Tribes and Other Traditional Forest Dwellers 

(Recognition of Forest Rights) Act, 2006, is a key piece of forest legislation passed 

in India on 18 December 2006. It has also been called the Forest Rights Act, the 

Tribal Rights Act, the Tribal Bill, and the Tribal Land Act. The law concerns the 

rights of forest-dwelling communities to land and other resources, denied to them 

over decades as a result of the continuance of colonial forest laws in India. 

Supporters of the Act claim that it will redress the "historical injustice" committed 

against forest dwellers, while including provisions for making conservation more 

effective and more transparent. The demand for the law has seen massive national 

demonstrations involving hundreds of thousands of people. However, the law has 

also been the subject of considerable controversy in India. Opponents of the law 

claim it will lead to massive forest destruction and should be repealed. A little over 

one year after it was passed, the Act was notified into force on 31 December 2007. 
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On 1 January 2008, this was followed by the notification of the Rules framed by the 

Ministry of Tribal Affairs to supplement the procedural aspects of the Act 

 

15. A legislation which confers on the executive or administrative authority an 

unguided and uncontrolled discretionary power in the matter of application of 

law violates which one of the following Articles of the Constitution of India?  

(a) Article 14 

(b) Article 28 

(c) Article 32  

(d) Article 44  

Solution: C 

Explanation: Uncontrolled and unguided legislations will be treated arbitrary and 

such laws cannot used. Any violation of fundamental rights by such laws will attract 

remedies in article 32 

 

16. Which one of the following in Indian polity is an essential feature that 

indicates that it is federal in character?  

(a) The independence of judiciary is safeguarded.  

(b) The Union Legislature has elected representatives from constituent units.  

(c) The Union Cabinet can have elected representatives from regional parties 

(d) The Fundamental Rights are enforceable by Courts of Law. 

Solution: A 

Explanation: Features of federation (Laxmikanth polity)  
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17. Which one of the following best defines the term `State?  

(a) A community of persons permanently occupying a definite territory independent 

of external control and possessing an organized government  

(b) A politically organized people of a definite territory and possessing an authority 

to govern them, maintain law and order, protect their natural rights and safeguard 

their means of sustenance  

(c) A number of persons who have been living in a definite territory for a very long 

time with their own culture, tradition and government  

(d) A society permanently living in a definite territory with a central authority, an 

executive responsible to the central authority and an independent judiciary  

Solution:  B 

Explanation: 

https://www.britannica.com/topic/state-sovereign-political-entity 

 

 

 

18. With reference to Indian judiciary, consider the following statements :  

1. Any retired judge of the Supreme Court of India can be called back to sit and act 

as a Supreme Court judge by the Chief Justice of India with prior permission of the 

President of India.  

2. A High Court in India has the power to review its own judgment as the Supreme 

Court does. 

Which of the statements given above is/are correct?  

(a) 1 only  

(b) 2 only  

https://www.britannica.com/topic/state-sovereign-political-entity
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(c) Both 1 and 2  

(d) Neither I nor 2  

Solution: C 

Explanation: Supreme court and High court (Laxmikanth polity) 

 

19. With reference to India, consider the following statements :  

1. There is only one citizenship and one domicile.  

2. A citizen by birth only can become the Head of State.  

3. A foreigner once granted the citizenship cannot be deprived of it under any 

circumstances. 

 Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only 

(c) 1 and 3 

(d) 2 and 3 

Solution: A 

Explanation: Refer the topic of ELECTION OF PRESIDENT and CITIZENSHIP in 

Laxmikanth polity 

 

20. Which one of the following factors constitutes the best safeguard of liberty 

in a liberal democracy?  

(a) A committed judiciary  

(b) Centralization of powers 
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(c) Elected government 

(d) Separation of powers 

Solution: D or A  

Explanation: https://www.encyclopedia.com/international/legal-and-political-

magazines/liberal-democracy 

liberal democracy is characterized by Limited governmental powers, which are 

kept in check by constitutional guarantees including separation of powers (so 

that all executive, legislative, and judicial powers are not, in effect, exercised by the 

same person or institution) 

Judiciary is guardian of rights and liberty of individual 

 

21. Water can dissolve more substances than any other liquid because  

(a) it is dipolar in nature 

(b) it is a good conductor of heat 

(c) it has high value of specific heat 

(d) it is an oxide of hydrogen 

Solution: A 

Explanation: Water : has highly polar hydrogen bonds 

It is water's chemical composition and physical attributes that make it such an 

excellent solvent. Water molecules have a polar arrangement of oxygen and 

hydrogen atoms—one side (hydrogen) has a positive electrical charge and the other 

side (oxygen) had a negative charge. This allows the water molecule to 

become attracted to many other different types of molecules . Water can become 

so heavily attracted to a different compound, like salt (NaCl), that it can disrupt the 

attractive forces that hold the sodium and chloride in the salt compound together 

and, thus, dissolve it. 
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22. With reference to street-lighting, how do sodium lamps differ from LED 

lamps? 

1, Sodium lamps produce light in 360 degrees but it is not so in the case of LED 

lamps 

2. As street-lights, sodium lamps have longer life span than LED lamps. 

3. The spectrum of visible light from sodium lamps is almost monochromatic while 

LED lamps offer significant colour advantages in street-lighting.  

Select the correct answer using the code given below.  

(a) 3 only  

(b) 2 only  

(c) 1 and 3 only  

(d) 1, 2 and 3 

Solution: C 

Explanation: The biggest differences between LED and High-Pressure Sodium 

lights are color temperature and CRI. LED lights have a wider variety of color 

temperatures along with higher CRIs. LED Area Lights have a much easier 

immanence than High Pressure Sodium lights. LED lights have essentially no 

maintenance cost and must be changed rarely with infrequent monitoring. High 

Pressure Sodium lights have a high maintenance cost, because they require 

monitoring and more frequent replacement of both bulbs and parts. HPS  Lights have 

good life spans – around 14,000 hours – though this is significantly less than LEDs.  

LEDs last longer than any light source commercially available on the market. LEDs 

are typically 40,000 - 60,000 Hours.LED Directionality Like Metal Halides,  High 

Pressure Sodium lights are omni directional , which wastes light and makes them 

less efficient. They lose roughly 15% of their heat emissions which adds to their 

inefficiency.LED Chips are mounted on a circuit board, so depending on the 
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configuration, usually 180 degrees. This is typically an advantage because light is 

usually desired over a target area (rather than all 360 degrees around the bulb). HPS 

lights have a very narrow color spectrum, limited to warm deep yellow light. , 

generally from 2700K-6000K (ranging from 'warm white' to 'daylight') 

 

23. The term ‘ACE2’ is talked about in the context of  

(a) genes introduced in the genetically modified plants  

(b) development of India's own satellite navigation system 

(c) radio collars for wildlife tracking  

(d) spread of viral diseases  

Solution: D 

Explanation:  ACE-2 

ACE-2 is a type I transmembrane metallocarboxypeptidase with homology to ACE, 

an enzyme long-known to be a key player in the Renin-Angiotensin system (RAS) 

and a target for the treatment of hypertension.14 It is mainly expressed in vascular 

endothelial cells, the renal tubular epithelium, and in Leydig cells in the 

testes.15,16 PCR analysis revealed that ACE-2 is also expressed in the lung, kidney, 

and gastrointestinal tract, tissues shown to harbor SARS-CoV.17-19 The major 

substrate for ACE-2 is Angiotensin II.20 ACE-2 degrades Angiotensin II to 

generate Angiotensin 1-7, thereby, negatively regulating RAS.15,20 ACE-2 has also 

been shown to exhibit a protective function in the cardiovascular system and other 

organs.15 

ACE-2 is an Entry Receptor for SARS-CoV-2 

Based on the sequence similarities of the RBM between SARS-CoV-2 and SARS-

CoV, several independent research groups investigated if SARS-CoV-2 also 

utilizes ACE-2 as a cellular entry receptor. Zhou et al. showed that SARS-CoV-2 

could use ACE-2 from humans, Chinese horseshoe bats, civet cats, and pigs to gain 

entry into ACE-2-expressing HeLa cells.5 Hoffmann et al. reported similar findings 

https://www.rndsystems.com/target/ace-2
https://www.rndsystems.com/target/ace-cd143
https://www.rndsystems.com/research-area/renin--angiotensin-system
https://www.rndsystems.com/target/ace-2
https://www.rndsystems.com/target/ace-2
https://www.rndsystems.com/search?keywords=angiotensin+II
https://www.rndsystems.com/target/ace-2
https://www.rndsystems.com/search?keywords=angiotensin+II
https://www.rndsystems.com/search?keywords=angiotensin+1-7
https://www.rndsystems.com/target/ace-2
https://www.rndsystems.com/target/ace-2
https://www.rndsystems.com/target/ace-2
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for human and bat ACE-2.21 Additionally, Hoffmann et al. showed that treating 

Vero-E6 cells, a monkey kidney cell line known to permit SARS-CoV replication, 

with an Anti-ACE-2 Antibody (R&D Systems, Catalog # AF933) blocked entry of 

VSV pseudotypes expressing the SARS-CoV-2 spike protein.21  

 

24. Bisphenol A (BPA), a cause of concern, is a structural/key component in the 

manufacture of which of the following kinds of plastics?  

(a) Low-density polyethylene 

(b) Polycarbonate 

(c) Polyethylene teraphthalate  

(d) Polyvinyl chloride  

Solution: B Explanation: 

BPA is an industrial chemical used to make polycarbonate, a hard, clear plastic, 

which is used in many consumer products. BPA is also found in epoxy resins, which 

act as a protective lining on the inside of some metal-based food and beverage cans. 

Uses of all substances that migrate from packaging into food, including BPA, are 

subject to premarket approval by FDA as indirect food additives or food contact 

substances.  FDA can make regulatory changes based on new safety or usage 

information. The original approvals for BPA were issued under FDA’s food additive 

regulations and date from the 1960s. 

 

 

 

 

25. ‘Triclosanc’, considered harmful when exposed to high levels for a long 

time, is most likely present in which of the following?  

(a) Food preservatives 

(b) Fruit-ripening substances 

https://www.rndsystems.com/target/ace-2
https://www.rndsystems.com/target/ace-2?category=Primary%20Antibodies
https://www.rndsystems.com/products/human-ace-2-antibody_af933
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(c) Reused plastic containers 

(d) Toiletries  

Solution: D 

Explanation: Triclosan  is an antibacterial  and antifungal agent present in some 

consumer products, including toothpaste, soaps , detergents , toys, and surgical 

cleaning treatments.  

 

26. Which one of the following is a reason why astronomical distances are 

measured in light-years?  

(a) Distances among stellar bodies do not change 

(b) Gravity of stellar bodies does not change 

(c) Light always travels in straight line 

(d) Speed of light is always same  

Solution: D 

Explanation: Distance among stellar bodies changes. Even distance of earth from 

sun changes in its orbit. Distance between stars also change 

Earth’s gravity is changed by seasons and even by shift in land and water on the 

ground 

Light can bend around corners. Even heavy masses can bend light  

Speed of light is same in the same medium (space) 

 

27. We adopted parliamentary democracy based on the British model, but how 

does our model differ from that model?  

1, /As regards legislation, the British Parliament is supreme or sovereign but in India, 

the power of the Parliament to legislate is limited 
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2. In India, matters related to the constitutionality of the Amendment of an Act of 

the Parliament are referred to the Constitution Bench by the Supreme Court.  

Select the correct answer using the code given below.  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2 

(d) Neither 1 nor 2  

Solution: A 

Explanation: Refer to features of parliamentary system in laxmikanth 

Constitutional amendment acts need not always be referred to supreme court 

 

28. With reference to the Union Government, consider the following 

statements: 

1. N. Gopalaswamy Iyengar Committee suggested that a minister and a secretary be 

designated solely for pursuing the subject of administrative reform and promoting 

it.  

2. In 1970, the Department of Personnel was constituted on the recommendation of 

the Administrative Reforms Commission, 1966, and this was placed under the Prime 

Minister's charge. 

Which of the statements given above is/are correct? 

(a) 1 only  

(b) 2 only  

(c) Roth 1 and 2  

(d) Neither 1 nor 2  
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Solution: C 

Explanation: Refer the topic Union Government in Laxmikanth Public 

Administration 

 

29. 'Right to Privacy' is protected under which Article of the Constitution of 

India?  

(a) Article 15  

(b) Article 19  

(c) Article 21  

(d) Article 29  

Solution: C 

Explanation:https://www.thehindu.com/news/national/citizens-of-india-today-

have-right-to-privacy-says-former-justice-puttaswamy/article19554380.ece 

Refer article 21 in laxmikanth polity 

 

30. Consider the following statements : 

1 In India, there is no law restricting the candidates from contesting in one Lok Sabha 

election from three constituencies 

2. In 1991 Lok Sabha Election, Shri Devi Lal contested from three Lok Sabha 

constituencies.  

3. As per the existing rules, if a candidate contests in one Lek Sabha election from 

many constituencies, his/her party should bear the cost of bye-elections to the 

constituencies vacated by- him/her in the event of him/her winning in all the 

constituencies. 

Which of the statements given above is/are correct?  
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(a) 1 only  

(b) 2 only  

(c) 1 and 3 

(d) 2 and 3 

Solution: B 

Explanation: (Refer: Section 33 (7) of Representation of People Act, 1951)  

Election expenditure is bared by state and not by any political party in 2019 a case 

filed in kerala high court on this issue 

 

31. The vegetation of savannah consists of grassland with scattered small trees, 

but extensive areas have no trees. The forest development in such areas is 

generally kept in check by one or more or a combination of some conditions. 

Which of the following are such conditions?  

1. Burrowing animals and termites 

2. Fire  

3. Grazing herbivores. 

4. Seasonal rainfall  

5. Soil properties 

Select the correct answer using the code given below.  

(a) 1 and 2  

(b) 4 and 5  

(c) 2, 3 and 4  

(d) 1, 3 and 5  
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Solution:C 

Explanation: Fire is an important limiting factor for trees in Savanna. So, only option 

C 

 

32. With reference to the water on the planet Earth, consider the following 

statements:  

1. The amount of water in the rivers and lakes is more than the amount of 

groundwater 

2. The amount of water in polar ice caps and glaciers is more than the amount of 

groundwater.  

Which of the statements given is/are correct?  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2  

(d) Neither 1 nor 2  

Solution:B 

Explanation: Rivers + lakes = .0091, Ground water = 0.68……. wrong statement 

Ie caps = 2%.... correct 

 

NCERT 11th  
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33. Consider the following statements :

1. Moringa (drumstick tree) is a leguminous evergreen tree.

2. Tamarind tree is endemic to South Asia.

3. In India, most of the tamarind is collected as minor forest produce.

4. India exports tamarind and seeds of moringa.

S. Seeds of moringa and tamarind can be used in the production of bio fuels

Which of the statements given above are correct? 

(a) 2, 4 find 5

(b) 3, 4 and 5

(c) 1, 3 and 4

(d) 1, 2, 3 and 5

Solution: B
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34. The black cotton soil of India has been formed due to the weathering of

(a) brown forest soil

(b) fissure volcanic rock

(c) granite and schist

(d) shale and limestone

Solution: B 

Explanation: Fissure volcano that is not explosive 

The black soil in India is found in the states like Maharashtra, Gujarat, Madhya 

Pradesh, and Karnataka. Black soil is formed due to the weathering or erosion of 

the basalt rocks. 

35. With reference to recent developments regarding `Recombinant Vector

Vaccines’, consider the following statements:

1. Genetic engineering is applied in the development of these vaccines.

2. Bacteria and viruses are used as vectors.

Which of the statements given above is/are correct? 

(a) 1 only
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(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Solution: A 

Explanation: Compared with the subunit antigen, which can only be input once at a 

time, the recombinant virus vector vaccine can produce antigen in vivo for a longer 

time. The synthesized antibodies can be secreted out of the host cell and induce 

humoral immunity or presented by MHC-I molecules to induce cellular immune 

response. The antigen molecules expressed can be of various types and the entire 

process is similar to the natural infection process of pathogens, thus the 

immunogenicity of such vaccines is more abundant and stronger. Viruses currently 

utilized as vaccine vectors include adenoviruses (double-stranded DNA viruses), 

alphaviruses (single-stranded RNA viruses), poxviruses (double-stranded DNA 

viruses), as well as herpesviruses (double-stranded DNA viruses). 

Viral vectors are promising tools for gene therapy and vaccines. Viral vector-based 

vaccines can enhance immunogenicity without an adjuvant and induce a robust 

cytotoxic T lymphocyte (CTL) response to eliminate virus-infected cells. During the 

last several decades, many types of viruses have been developed as vaccine vectors. 
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Each has unique features and parental virus-related risks. In addition, genetically 

altered vectors have been developed to improve efficacy and safety, reduce 

administration dose, and enable large-scale manufacturing. To date, both successful 

and unsuccessful results have been reported in clinical trials. These trials provide 

important information on factors such as toxicity, administration dose tolerated, and 

optimized vaccination strategy. This review highlights major viral vectors that are 

the best candidates for clinical use. 

 

 

 

 

 

 

36. In the context of hereditary diseases, consider the following statements: 

1. Passing on mitochondrial diseases from parent to child can be prevented by 

mitochondrial replacement therapy either before or after in vitro fertilization of egg. 

2. A child inherits mitochondrial diseases entirely from mother and not from father. 

Which of the statements given above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

Solution: C 

Explanation: Matrilineal transmission of mutant mitochondrial DNA (mtDNA) 

underlies a range of incurable mtDNA diseases that affect as many as 1 in every 

5000 individuals. 

Prenatal screening for mtDNA diseases by preimplantation genetic diagnosis is 

compromised by the stochastic non-Mendelian segregation of mtDNA. 
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Forestalling mtDNA diseases by substituting mutation-bearing germline 

mitochondria with donated mutation-free analogs may now be possible. 

Current mitochondrial replacement technologies are bridled by theological concerns 

over the destruction of human zygotes and by ethical and safety concerns over the 

donor requirement. 

Alternative embryo-sparing donor-independent mitochondrial replacement 

technologies hold the promise of mitigating current theological, ethical, and safety 

concerns and, thus, of accelerated implementation. 

 

37.  Bollgard I and Bollgard II technologies are mentioned in the context of  

(a) clonal propagation of crop plants 

(b) developing genetically modified crop plants  

(c) production of plant growth substances 

(d) production of biofertilizers  

Solution: B 

Explanation: Bollgard® Bt cotton (single-gene technology) is India’s first biotech 

crop technology approved for commercialization in India in 2002, followed by 

Bollgard® II – double-gene technology in mid-2006, by the Genetic Engineering 

Approval Committee (GEAC), the Indian regulatory body for biotech crops. 

Bollgard® cotton provides in-built protection for cotton against destructive 

American Bollworm Heliothis Armigera infestations, and contains an insecticidal 

protein from a naturally occurring soil microorganism, Bacillus thuringiensis (Bt). 

Bollgard® II technology contains a superior double-gene technology - Cry1Ac and 

Cry 2Ab which provides protection against bollworms and Spodoptera caterpillar, 

leading to better boll retention, maximum yield, lower pesticides costs, and 

protection against insect resistance. Both, Bollgard® II and Bollgard® insect-

protected cotton are widely planted around the world as an environmentally friendly 

way of controlling bollworms. 
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38. In a pressure cooker, the temperature at which the food is cooked depends 

mainly upon which of the following? 

1. Area of the hole in the lid 

2. Temperature of the flame 

3. Weight of the lid 

Select the correct answer using the code given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

Solution: A 

Explanation: A pressure cooker looks like a regular pot but has a modified lid that 

locks on over a rubber gasket to create a seal. The cooker works by raising the 

temperature of boiling water, thereby speeding up the time it takes to boil, braise, or 

steam. To use a pressure cooker, you put the food in the pot with some liquid-usually 

a minimum of 2 cups to build up sufficient steam pressure. Once the lid is locked in 

place and the cooker is set on high heat, steam develops in the pot and can’t escape. 

The trapped steam increases the atmospheric pressure inside the cooker by 15 

pounds per square inch (psi), or 15 pounds above normal sea-level pressure. At that 

pressure, the boiling point of water is increased from 212°F to 250°F. This higher 

temperature is what cooks food faster. Once the cooker has reached full pressure, 

usually indicated by a gauge or pop-up rod on the lid, a release valve opens, letting 

out steam in a regulated flow to maintain a constant temperature inside the pot. 

 

39. Consider the following: 

1. Bacteria 
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2. Fungi 

3. Virus 

Which of the above can be culture in artificial/synthetic medium? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

Solution: A 

Explanation: viruses lack metabolic machinery of their own and are totally 

dependent on their host cell for replication, they cannot be grown in synthetic culture 

media. 

40. Consider the following statements: 

1. Adenoviruses have single-stranded DNA genomes whereas retroviruses have 

double-stranded DNA genomes. 

2. Common cold is sometime caused by an adenovirus whereas AIDS is caused by 

a retrovirus. Which of the statements given above is/are correct?  

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2  

Solution: B 

Explanation: genome of adenovirus is double- stranded  DNA  while the genome of 

a retrovirus is single-stranded RNA. 
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41. How is permaculture farming different from conventional chemical 

farming?  

1. Permaculture farming discourages monocultural practices but in conventional 

chemical farming, monoculture practices are pre-dominant.  

2. Conventional chemical fanning can cause increase in soil salinity but the 

occurrence of such phenomenon is not observed in permaculture farming.  

3. Conventional chemical farming is easily possible in semi-arid regions but 

permaculture farming is not so easily possible in such regions.  

4. Practice of mulching is very important in permaculture farming but not necessarily 

so in conventional chemical farming.  

Select the correct answer using the code given below.  

(a) 1 and 3  

(b) 1, 2 and 4 

(c) 4 only 

(d) 2 and 3 

Solution: B 

Explanation: Statement 1, 2, 4 are correct 

Organic mulching is the common practice of covering up soil with all kinds of 

organic materials such as straw, wood chips, compost, and crop residues 

 

Arid land to a fertile Eden: permaculture lessons from Portugal….. So statement 3 

is wrong. Also, water is required for chemical farming and so not possible in semi 

arid 

 

42. With reference to 'palm oil', consider the following statements:  
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1. The palm oil tree is native to Southeast Asia.  

2. The palm oil is a raw material for some industries producing lipstick and 

perfumes. 

 3. The palm oil can be used produce bio diesel 

 Which of the statements given above are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only 

(c) 1 and 3 only  

(d) 1, 2 and 3  

Solution: B 

Explanation: Oil palm trees are native to Africa but were brought to South-East Asia 

just over 100 years ago as an ornamental tree crop 

Palm oil is considered as an alternative and promising feedstock to further 

diversified the biodiesel production in the global market. Palm oil contains various 

phytonutrients that can be separated out prior to biodiesel production. 

https://www.ethicalconsumer.org/palm-oil/brands-companies-use-palm-oil 

https://www.sciencedirect.com/science/article/pii/B9780123850997000164#:~:text

=Palm%20oil%20is%20considered%20as,out%20prior%20to%20biodiesel%20pro

duction. 

Palm oil is derived from the oil palm tree (Elaeis guineensis Jacq.), which is native 

to West Africa and grows best in tropical climates with abundant water.  

 

1 is wrong. So, b is the only option 

 

Palm oil is used in lipstick as it holds color well, doesn't melt at high temperatures, 

and has a smooth application and virtually no taste. 

 

https://www.ethicalconsumer.org/palm-oil/brands-companies-use-palm-oil
https://www.sciencedirect.com/science/article/pii/B9780123850997000164#:~:text=Palm%20oil%20is%20considered%20as,out%20prior%20to%20biodiesel%20production
https://www.sciencedirect.com/science/article/pii/B9780123850997000164#:~:text=Palm%20oil%20is%20considered%20as,out%20prior%20to%20biodiesel%20production
https://www.sciencedirect.com/science/article/pii/B9780123850997000164#:~:text=Palm%20oil%20is%20considered%20as,out%20prior%20to%20biodiesel%20production
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Palm oil is considered as an alternative and promising feedstock to further 

diversified the biodiesel production in the global market. 

 

 

43. With reference to the Indus river system, of the following four rivers, three 

of them pour into one of them which joins the Indus direct. Among the 

following, which one is such river that joins the Indus direct?  

(a) Chenab  

(b) Jhelum  

(c) Ravi  

(d) Sutlej  

Solution: D 

Explanation: Sutlej 

Chenab joins the Satluj after receiving the waters of Jhelum and Ravi rivers. 

44. With reference to India, Didwana, Kuchaman, Sargol and Khatu are the 

names of  

(a) glaciers  

(b) mangrove areas  

(c) Ramsar sites  

(d) saline lakes  

Solution: D 

Explanation: famous Didwana salt-water lake of Rajasthan. 

Kuchaman is sambhar lake in Rajasthan 

 

45. Consider the following rivers : 
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1. Brahmani 

2. Nagavali  

3. Subarnarekha  

4. Vamsadhara 

Which of the above rise from the Eastern Ghats?  

(a) 1 and 2 

(b) 2 and 4  

(c) 3 and 4 

(d) l and 3 

Solution: B 

Explanation: Rivers originating on the Eastern Ghats include: 

 Baitarani River. 

 Budhabalanga River. 

 Rushikulya River. 

 Vamsadhara River. 

 Palar River. 

 Nagavali River. 

 Champavathi River. 

 Gosthani River. 

 

46. Consider the following statements: 

1. The Global Ocean Commission grants licences for seabed exploration and mining 

in international waters 

2. India has received licences for seabed mineral exploration in international waters.  

3. 'Rare earth minerals' are present on seafloor in international waters. 
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Which of the statements given above are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only  

(c) 1 and 3 only  

(d) 1, 2 and 3  

Solution: B 

Explanation: https://www.thehindu.com/sci-tech/science/why-is-india-pulled-to-

deep-sea-mining/article28809029.ece 

https://www.offshore-energy.biz/indias-seabed-mining-licence-extended/   

ISA  is the organization through which States Parties to UNCLOS organize and 

control all mineral-resources-related activities in the Area for the benefit of mankind 

as a whole. In so doing, ISA has the mandate to ensure the effective protection of 

the marine environment from harmful effects that may arise from deep-seabed 

related activities. 

https://www.isa.org.jm/about-isa   

47. Among the following, which one is the least water-efficient crop?  

(a) Sugarcane  

(b) Sunflower 

(c) Pearl millet 

(d) Red gram  

Solution: A 

Explanation: The crops which have high Water Use Efficiency (WUE) are Pearl 

millet and sorghum. 

https://www.thehindu.com/sci-tech/science/why-is-india-pulled-to-deep-sea-mining/article28809029.ece
https://www.thehindu.com/sci-tech/science/why-is-india-pulled-to-deep-sea-mining/article28809029.ece
https://www.offshore-energy.biz/indias-seabed-mining-licence-extended/
https://www.isa.org.jm/about-isa
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Rice, wheat and sugarcane constitute about 90% of India's crop production and 

these are the most water consuming crop 

 

48. Consider the following statements:  

1. In the tropical zone, the western sections of the oceans are warmer than the eastern 

sections owing to the influence of trade winds. 

z. In the temperate zone, westerlies make the eastern sections of oceans warmer than 

the western sections.  

Which of the statements given above is/are correct?  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2  

(d) Neither I nor 2  

Solution:C 

Explanation: Westerlies move the surface warm water to the east and hence Eastern 

section of ocean becomes hot 

 

Trade winds move the surface warm water to west and hence western section of the 

ocean becomes hot 

Both are correct 

 

 

49. In the context of India's preparation for Climate-Smart Agriculture, 

consider the following statements: 
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1. The 'Climate-Smart Village' approach in India is a part of a project led by the 

Climate Change, Agriculture and Food Security (CCAFS), an international research 

programme. 

2. The project of CCAFS is carried out under Consultative Group on International 

Agricultural Research (CGIAR) headquartered in France.  

3. The International Crops Research Institute for the Semi-Arid Tropics (ICRISAT) 

in India is one the CGIAR's research centres.  

Which of the statements given above are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3  

Solution: D 

Explanation: The overall purpose of CCAFS is to marshal the science and expertise 

of CGIAR and partners to catalyse positive change towards climate-smart 

agriculture (CSA), food systems and landscapes, and position CGIAR ( HQ : France 

)  to play a major role in bringing to scale practices, technologies and institutions 

that enable agriculture to meet triple goals of food security, adaptation and 

mitigation. 

ICRISAT's research-for-development agenda is achieved through the CGIAR 

Research Program on Dryland Systems, the CGIAR Research Program on Policies 

https://ccafs.cgiar.org/about-us  

https://www.plantagbiosciences.org/people/sean-kelly/2018/06/23/so-what-is-a-

climate-smart-village/  

https://ccafs.cgiar.org/climate-smart-villages  

https://www.cgiar.org/research/center/icrisat/  

https://www.cgiar.org/
https://ccafs.cgiar.org/about-us
https://www.plantagbiosciences.org/people/sean-kelly/2018/06/23/so-what-is-a-climate-smart-village/
https://www.plantagbiosciences.org/people/sean-kelly/2018/06/23/so-what-is-a-climate-smart-village/
https://ccafs.cgiar.org/climate-smart-villages
https://www.cgiar.org/research/center/icrisat/
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50. "Leaf litter decomposes faster than in any other biome and as a result the 

soil surface is often almost bate. Apart from trees, the vegetation is largely 

composed of plant forms that reach up into the canopy vicariously, by climbing 

the trees or growing as epiphytes, rooted on the upper branches of trees.” This 

is the most likely description of 

(a) coniferous forest 

(b) dry deciduous forest 

(c) mangrove forest 

(d) tropical rain forest 

Solution: D 

Explanation: 

Leaf litter decomposes most rapidly in tropical rain forest due to high humidity and 

temperature 

 

51. With reference to the history of ancient India, Bhavabhuti, Hastimalla and 

Kshemeshvara were famous  

(a) Jain monks 

(b) playwrights  

(c) temple architects 

(d) philosophers  

Solution: B  

Explanation: Bhavabhuti was an 8th-century scholar of India noted for his plays 

and poetry, written in Sanskrit. His plays are considered the equal of the works of 

Kalidasa .  
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52. Consider the following statements:  

1. The Montagu-Chelmsford Reforms of 1919 recommended granting voting rights 

to all the women above the age of 21 

2. The Government of India Act of 1935 gave women reserved seats in legislature. 

Witch of the statements given above is/are correct?  

(a) 1 only  

(b) 2 only 

(c) Both 1 and 2  

(d) Neither I nor 2 

Solution: B 

Explanation: Despite petitions presented by women and men to the British 

commissions sent to evaluate Indian voting regulations, women's demands were 

ignored in the Montagu–Chelmsford Reforms 1919. 

The 1935  Act not only enlarged the size of legislature, it also extended the 

franchise i.e. the number of voters was increased and special seats were 

allocated to women in legislature. The 1935 Act granted 41 reserved 

seats for women in the provincial legisla-tures as well as limited reservations for 

them in the central legis-lature . 

 

53. With reference to 8th August, 1912 in Indian history, which one of the 

following statements is correct? 

(a) The Quit India Resolution was adopted by the AICC:  

(b) The Viceroy's Executive Council was expanded to include more Indians.  

(c) The Congress ministries resigned in seven provinces.  
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(d) Cripps proposed an Indian Union with full Dominion Status once the Second 

World War was over.   

Solution: A 

Explanation: On 7 august 1942 , annual meeting of AICC was held at Gwaliya Tank 

of Bombay in which Wardha Resolution(Quit india resolution) was prepared .  

On 8th August 1942, the All India Congress Committee passed the Quit India 

movement after some modification in wardha resolution. 

Quit india movement for India`s independence was launched on 9th august. 

 

54. Who among the following is associated with 'Songs from Prison', a 

translation of ancient Indian religious lyrics in English?  

(a) Hal Gangadhar Tilak 

(b) Jawaharlal Nehru 

(c) Mohandas Karamchand Gandhi 

(d) Sarojini Naidu  

Solution: C 

Explanation: Mohandas Karamchand Gandhi Songs from Prison is a collection 

of songs and lyrics by Gandhi, written during his imprisonment in Yeravada 

Jail, Poona. 

 

55. With reference to medieval India, which one of the following is the correct 

sequence in ascending order in terms of size?  

(a) Paragana—Sarkar—Suba  

(b) Sarkar—Paragana—Suba 
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(c) Suba—Sarkar—Paragana  

(d) Paragana—Suba—Sarkar  

Solution: C 

Explanation: Suba-Sarkar-Paragana 

Mughal Empire was divided into Suba, Sarkar, Pargana and Village. 

 

56. Who among the following was associated as Secretary with Hindu Female 

School which later came to be known as Bethune Female School?  

(a) Annie Besant 

(b) Debendranath Tagore 

(c) Ishwar Chandra Vidyasagar  

(d) Sarojini Naidu  

Solution: C  

Explanation: Ishwar Chandra Vidyasagar 

Hindu Female School, later renamed Bethune Female School, was opened in 

Calcutta by John Elliot Drinkwater Bethune, 

Vidyasagar was the honory secretary of the bethune female School 

 

 

 

57. In the context of Colonial India, Shah Nawaz Khan, Prem Kumar Sehgal 

and Gurbaksh Singh Dhillon are remembered as  

(a) leaders of Swadeshi and Boycott Movement  
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(b) members of the Interim Government in 1946 

(c) members of the Drafting Committee in the Constituent Assembly  

(d) officers of the Indian National Army  

Solution: D 

Explanation: officers of the INA 

Prem Kumar Sehgal, Shah Nawaz Khan and Gurbaksh Singh Dhillon were 

three of the senior-most officers of INA and trusted colleagues of Netaji. 

 

58. With reference to Indian history, which of the following statements is/are 

correct?  

1. The Nizamat of Arcot emerged out of Hyderabad State.  

2. The Mysore Kingdom emerged out of Vijayanagara Empire.  

3. Rohilkhand Kingdom was formed out of the territories occupied by Ahmad Shah 

Durrani.  

Select the correct answer using the cod 'given below.  

(a) 1 and 2 

(b) 2 only 

(c) 2 and 3 

(d) 3 only  

Solution: A 

Explanation: After the decline of Vijayanagar Empire, Mysore became 

independent state under the Hindu Wodeyar Dynasty . 

59. Which one of the following statements is correct?  
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(a) Ajanta Caves lie in the gorge of Waghora river.  

(b) Sanchi Stupa lies in the gorge of Chambal river. 

(c) Pandu-lena Cave Shrines lie in the gorge of Narmada river. 

(d)  Amaravati Stupa lies in the gorge of Godavari river. 

Solution:A  

Explanation: (a) Ajanta is a series of rock-cut caves in the Sahyadri ranges 

(Western Ghats) on Waghora river near Aurangabad in Maharashtra . 

(b) It lies in an upland plateau region, just west of the Betwa River. 

 

60. Consider the following statements: 

1. 21st February is declared to be the International Mother Language Day by 

UNICEF. 

2. The demand that Bangla has to be one of the national languages was raised in the 

Constituent Assembly of Pakistan. 

Which of the above statements is/are correct?  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2  

(d) Neither 1 nor 2  

Solution: B  

Explanation: Mother language day is given by UNESCO. So, 1 is wrong 

They demanded Bangla to be at least one of the national languages, in addition to 

Urdu. The demand was raised first by Dhirendranath Datta from East Pakistan on 23 
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February 1948, in the constituent Assembly of Pakistan. To demolish the protest, the 

government of Pakistan outlawed public meeting and rallies. 

 

61. With reference to Chausath Yogini Temple situated near Morena, consider 

the following statements:  

1. It is a circular temple built during the reign of Kachchhapaghata Dynasty.  

2. It is the only circular temple built in India.  

3. It was meant to promote the Vaishnava cult in the region.  

4. Its design has given rise to a popular belief that it was the inspiration behind the 

Indian Parliament building.  

Which of the statements given above are correct?  

(a) 1 and 2 

(b) 2 and 3 only 

(c) 1 and 4 

(d) 2, 3 and 4  

Solution:C  

Explanation: Statement 3- it promote Shakti (yogini) cult, so exclude option b& 

d 

Chausath Yogini Temple, Mitavli, is one of the rarest of Hindu temples in India. 

Its plan is circular and it is dedicated to the Tantric sect of Chausath Yogini. 

Most of the Hindu temples are based on square or rectangular plan. Circular 

temples are very rare. 
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62. Which one of the following ancient towns is well-known for its elaborate 

system of water harvesting and management by building a series of dams and 

channelizing water into connected reservoirs?  

(a) Dholavira  

(b) Kalibangan  

(c) Rakhlgarhi  

(d) Ropar  

Solution: A  

Explanation: dholavira 

 

63. In the first quarter of seventeenth century, in which following was/were die 

factory/factories of the English East India Company located?  

1. Broach 

2. Chicacole  

3. Trichinopoly 

Select the correct answer using the code given below.  

(a) I only  

(b)  1 and 2  

(c) 3 only 

(d) 2 and 3  

Solution: A 

Explanation: 
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By 1623, English East India Company had established factories at Surat, Broach, 

Ahmedabad, Agra, and Masulipatam      .                                                

 

64. From the decline of Guptas until the rise of Harshavardhana in the early 

seventh century, which of the following kingdoms were holding power in 

Northern India?  

1. The Guptas of Magadha  

2. The Paramaras of Malwa  

3. The Pushyabhutis of Thanesar  

4. The Maukharis of Kanauj  

5. The Yadavas of Devagiri  

6. The Maitrakas of Valabhi  

Select the correct answer using the code given below.  

(a) 1, 2 and 5 

(b) 1, 3, 4 and 6 

(c) 2, 3 and 4 

(d) 5 and 6 

Solution: B 

Explanation:The Maitraka dynasty ruled western India    NOT   North  India  .                                                                  

Yadava dynasty, rulers of a 12th–14th-century Hindu kingdom of central India in 

what is now the Indian state of Maharashtra.                                                                                                                                    

The Maukharis were feudatories of the Later Guptas in the regions of South Bihar 

and Uttar Pradesh in the beginning of the 6th century A.D. They rose to prominence 

by taking advantage of the decline of Gupta Power by the middle of the sixth century 

A.D. 

https://www.britannica.com/place/India
https://www.britannica.com/place/Maharashtra
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65. According to Portuguese writer Nuniz, the women in Vijayanagara Empire 

were expert in which of the following areas?  

1. Wrestling  

2. Astrology  

3. Accounting  

4. Soothsaying  

Select the correct answer using the code given below.  

(a) 1, 2 and 3 only  

(b) 1, 3 and 4 only  

(c) 2 and 4 only  

(d) 1 2, 3 and 4   

Solution: D 

Explanation: A Portuguese merchant , Fernao Nuniz (1534-1537 AD) visited 

Vijayanagar empire during the reign of Achyuta Raya (the Tuluva dynasty ruler). 

He wrote the history of the empire from its earliest times to the closing years of 

Achyuta Raya’s reign.                     

Position of Women 

 Women occupied a high position and took an active part in the political, social 

and literary life of the empire. 

 They were educated and trained in wrestling, in the use of various weapons of 

offence and defence, in music and fine arts. 

 Some women also received an education of high order. 

Nuniz writes that the kings had women astrologers, clerks, accountants, guards and 

wrestlers AND SOOTHSAYERS.          
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66. With reference to Madanapalle of Andhra Pradesh, which one of the 

following statements is correct?  

(a) Pingali Venkayya designed the tricolour Indian National Flag here.  

(b) Pattabhi Sitaramaiah led the Quit India Movement of Andhra region from here.  

(c) Rabindranath Tagore translated the National Anthem from Bengali to English 

here 

(d) Madame Blavatsky and Colonel Olcott set up headquarters of Theosophical 

Society first here  

Solution: C 

Explanation: Rabindranath Tagore translated "Jana Gana Mana" from Bengali to 

English and also set it to music in Madanapalle.[5] The National Anthem was written 

by Rabindranath Tagore as early as in 1911 and was sung at the annual session of 

the Indian National Congress at Calcutta on 27 December that year. But it was 

actually done in Besant Theosophical College, Madanapalle, where Tagore stayed 

for few days in February 1919 that the now familiar tune was set 

 

67. Consider the following pairs :  

(Historical place)  (Well-known for) 

1. Burzahom   Rock-cut shrines  

2. Chandra-ketugarh  Terracotta art 

3 Ganeshwar   Copper artefacts 

Which of the pairs given above is/are correctly matched?  

(a) 1 only  

(b) 1 and 2  

https://en.wikipedia.org/wiki/Rabindranath_Tagore
https://en.wikipedia.org/wiki/Jana_Gana_Mana
https://en.wikipedia.org/wiki/Bengali_language
https://en.wikipedia.org/wiki/Madanapalle#cite_note-5
https://en.wikipedia.org/wiki/National_Anthem
https://en.wikipedia.org/wiki/Rabindranath_Tagore
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(c) 3 only  

(d) 2 and 3  

Solution: D  

Explanation: Ganeshwar is located near the copper mines of the Sikar-Jhunjhunu 

area of the Khetri copper belt in Rajasthan. The Ganeshwar-Jodhpura culture has 

over 80 other sites currently identified. The period was estimated to be 2500–2000 

BC. ... Ganeshwar mainly supplied copper objects to Harappa                                                                                                                           

Why is Chandraketugarh famous?  

 

Around 50 km north-east of Kolkata, near the tiny village of Berachampa in West 

Bengal, lies the 2,300-year-old site of Chandraketugarh, filled with the most 

amazing terracotta sculptures. Once an important coastal hub in international 

trade, it is now no more than a barren mound fallen to neglect 

 

68. Consider the following statements : 

1. It was during the reign of Iltutmish that Chengiz Khan reached the Indus in pursuit 

of the fugitive Khwarezm prince.  

2. It was during the reign of Muhammad bin Tughluq that Tairnur occupied Multan 

and crossed the Indus.  

3. It was during the reign of Deva Raya II of Vijayanagara Empire that Vasco da 

Gama reached the coast of Kerala. 

Which of the statements given above is/are correct?  

(a) 1 only  

https://www.google.com/search?q=Why+is+Chandraketugarh+famous?&tbm=isch&source=iu&ictx=1&fir=AiH9W2gSOXevHM%252CxZ1dx3983G46SM%252C_&vet=1&usg=AI4_-kQCWN05ZsXWVThYvAK_meOiqdcFEA&sa=X&sqi=2&ved=2ahUKEwipreuXsL_zAhVbppUCHUg_A_8Q9QF6BAgNEAE#imgrc=AiH9W2gSOXevHM
https://www.google.com/search?q=Why+is+Chandraketugarh+famous?&tbm=isch&source=iu&ictx=1&fir=AiH9W2gSOXevHM%252CxZ1dx3983G46SM%252C_&vet=1&usg=AI4_-kQCWN05ZsXWVThYvAK_meOiqdcFEA&sa=X&sqi=2&ved=2ahUKEwipreuXsL_zAhVbppUCHUg_A_8Q9QF6BAgNEAE#imgrc=AiH9W2gSOXevHM
https://www.google.com/search?q=Why+is+Chandraketugarh+famous?&tbm=isch&source=iu&ictx=1&fir=AiH9W2gSOXevHM,xZ1dx3983G46SM,_&vet=1&usg=AI4_-kQCWN05ZsXWVThYvAK_meOiqdcFEA&sa=X&sqi=2&ved=2ahUKEwipreuXsL_zAhVbppUCHUg_A_8Q9QF6BAgNEAE#imgrc=AiH9W2gSOXevHM
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(b) 1 and 2  

(c) 3 only 

(d) 2 and 3 

Solution: A 

Explanation: 

Sangama dynasty 

Harihara I 1336–1356 

Deva Raya II 1424–1446 

 BUT      VASCO  da  gama    reached     reached  kerala   in  1498. 

Nasir-ud-Din Mahmud Shah Tughluq was the last sultan of the Tughlaq dynasty. It 

was during the reign of him Timur invaded India in 1398 A.D. He crossed Indus and 

captured Multan, and just walked over to Delhi without much resistance.     

 

69. Consider the following statements :  

1. St. Francis Xavier was one of the founding members of the Jesuit Order.  

2 St. Francis Xavier died in Goa and a church is dedicated to him there. 

3. The Feast of St. Francis Xavier is celebrated in Goa each year. 

Which of the statements given above are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only  

(c) 1 and 3 only  

(d) 1, 2 and 3  

Solution: C 
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Explanation: St. Francis Xavier was the greatest Roman Catholic missionary of 

modern times who was instrumental in the establishment of Christianity in India, the 

Malay Archipelago, and Japan.                              

Francis Xavier is an important holiday that is observed by devout Christians all over 

the world. In India, it is a regional public holiday in the state of Goa. It is observed 

on 3 December every year.     

Died in China. 

 

70, With reference to the history of ancient India, which of the following 

statements is /are correct?  

1. Mitakshara was the civil law for upper castes, and Dayabhaga was the civil law 

for lower castes.  

2. In the Mitakshara system, the sons can claim right to the property during the 

lifetime of the father, whereas in the Dayabhaga system, it is only after the death of 

the father that the sons can claim right to the property.  

3. The Mitakshara system deals with the matters related to the property held by male 

members only of a family, whereas the Dayabhaga system deals related to the both 

male and a family. 

Select the correct answer using the code given below.  

(a) 1 and 2  

(b) 2 only  

(c) 1 and 3  

(d) 3 only  

Solution: B 

Explanation: 
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Schools of Hindu Laws 

Mitakshara Law School Dayabhaga Law School 

The term Mitakshara is derived from the 

name of a commentary written by 

Vijnaneswara, on the Yajnavalkya Smriti. 

The term Dayabhaga is derived from a 

similarly named text written by 

Jimutavahana. 

It is observed in all parts of India and 

subdivided into the Benares, the Mithila, 

the Maharashtra and the Dravida schools. 

It is observed in Bengal Assam. 

A son, by birth acquires an interest in the 

ancestral property of the joint family. 

A son has no automatic ownership right 

by birth but acquires it on death of his 

father. 

A coparcener’s share is not defined and 

cannot be disposed of. 

The share of each coparcener is defined 

and can be disposed of. 

A wife cannot demand partition but has 

the right to a share in any partition 

between her husband and her sons. 

Here, the same right does not exist for the 

women because the sons cannot demand 

partition as the father is the absolute 

owner. 

All the members enjoy coparcenary rights 

during the father’s lifetime. 

Sons do not enjoy coparcenary rights 

when the father is alive. 

                                                                                                                                                                                               

 

71. Which one of the following is used in preparing a natural mosquito 

repellent?  

(a) Congress grass  

(b) Elephant grass  

(c) Lemon grass  

(d) Nut grass  

Solution: C 

Explanation: lemon grass 
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72. Consider the following kinds of organisms :  

1. Copepods  

2. Cyanobacteria  

3. Diatoms  

4. Foraminifera  

Which of the above are primary producers in the food chains of oceans?  

(a) 1 and 2  

(b) 2 and 3 

(c) 3 and 4  

(d) 1 and 4  

Solution: B 

Explanation: blue green algae (Cyanobacteria) and diatoms are examples 

of phytoplankton’s 

 

73. Consider the following animals : 

1. Hedgehog  

2. Marmot  

3. Pangolin 

To reduce the chance of being captured by predators, which of the above organisms 

rolls up/roll up and protects/ protect its/their vulnerable parts?  

(a) I and 2  

(b) 2 only  
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(c) 3 only 

(d) 1 and 3  

Solution: A 

Explanation: 

The scales are sharp, providing extra defense from predators. Pangolins can emit a 

noxious-smelling chemical from glands near the anus, similar to the spray of a 

skunk.( https://en.wikipedia.org/wiki/Pangolin) 

Hedgehogs have mainly three things in their defense arsenal:Fleeing,Curling up into 

a ball,Hissing (http://hedgehogkeeper.com/how-do-hedgehogs-protect-themselves/) 

marmots are very defensive against intruders, and will warn them off using 

intimidating behavior, such as beating of the tail and chattering of the teeth, and by 

marking their territory(https://en.wikipedia.org/wiki/Alpine_marmot)  

They choose to dig burrows under rocks, as it is less likely to be visible to predators 

(https://en.wikipedia.org/wiki/Yellow-bellied_marmot)  

 

74. With reference to the 'New York Declaration on Forests', which of the 

following statements are correct?  

1. It was first endorsed at the United Nations Climate Summit in 2014.  

2. It endorses a global timeline to end the loss of forests 

3. It is a legally binding international declaration.  

4. It is endorsed by governments, big companies and indigenous communities.  

5. India was one of the signatories at its inception. 

Select the correct answer using the code given below.  

(a) 1, 2 and 4 

(b) 1, 3 and 5 

https://en.wikipedia.org/wiki/Pangolin
http://hedgehogkeeper.com/how-do-hedgehogs-protect-themselves/
https://en.wikipedia.org/wiki/Alpine_marmot
https://en.wikipedia.org/wiki/Yellow-bellied_marmot
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(c) 3 and 4 

(d) 2 and 5  

Solution: A  

Explanation:  In response to UN Secretary-General Ban Ki-moon’s call for bold 

pledges to address climate change in advance of the UN Climate Summit 2014, an 

alliance of governments, companies, indigenous peoples and NGOs announced the 

New York Declaration on Forests - the first global timeline to slow and end forest 

lost. 

 

The New York Declaration on Forests was endorsed at the 2014 Climate Summit by 

more than 150 governments, companies, indigenous peoples and civil society 

organizations committed to doing their part to achieve the Declaration’s ten goals 

and follow its accompanying action agenda. Since then, the number of endorsers has 

grown to over 190 and new endorsers continue to sign-on.( 

https://forestdeclaration.org/about)  

 

75. Magnestite particles, suspected to cause neurodegenerative problems, are 

generated as environmental pollutants from which of the following?  

1. Brakes of motor vehicles  

2. Engines of motor vehicles  

3. Microwave stoves within homes 

4. Power plants  

5. Telephone lines  

Select the correct answer using the code given below.  

(a) 1, 2, 3 and 5 only  

(b) 1, 2 and 4 only 

https://forestdeclaration.org/about
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(c) 3, 4 and 5 only  

(d) 1, 2, 3, 4 and 5  

Solution: B 

Explanation: Such high-temperature magnetite nanospheres are ubiquitous and 

abundant in airborne particulate matter pollution. They arise as combustion-derived, 

iron-rich particles(https://pubmed.ncbi.nlm.nih.gov/27601646/)  

 

 

 

76. Which one of the following is a filter feeder?  

(a) Catfish 

(b) Octopus  

(c) Oyster 

(d) Pelican  

Solution: C 

Explanation: Filter feeders are animals that get their food by moving water through 

a structure that acts as a sieve. Some filter feeders are sessile organisms - they don't 

move much, if at all. Examples of sessile filter feeders are tunicates (sea squirts), 

bivalves (e.g. mussels, oysters, scallops), and sponges. Bivalves filter-feed by 

straining organic matter from the water using their gills 

https://www.thoughtco.com/what-is-a-filter-feeder-2291891 

 

77. In case of which one of the following biogeochemical cycles, the weathering 

of rocks- is the main source of release of nutrient to enter the cycle?  

(a) Carbon cycle 

https://pubmed.ncbi.nlm.nih.gov/27601646/
https://www.thoughtco.com/sea-squirts-2291992
https://www.thoughtco.com/facts-about-scallops-2291857
https://www.thoughtco.com/what-is-a-filter-feeder-2291891
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(b) Nitrogen cycle  

(c) Phosphorus cycle  

(d) Sulphur cycle. 

Solution: C 

Explanation:In this biogeochemical cycle, phosphorus moves through the 

hydrosphere, lithosphere and biosphere. Phosphorus is extracted by the weathering 

of rocks.78. 

 

 

78. Which of the following are detritivores? 

1. Earthworms 

2. Jellyfish 

3. Millipedes 

4. Seahorses 

5. Woodlice 

Select the correct answer using the code given below. 

(a) 1, 2 and 4 only 

(b) 2, 3 4 and 5 only 

(c) 1, 3 and 5 only 

(d) 1, 2, 3, 1 and 5 

Solution: C  

Explanation: Detritivores - An organism, such as a bacterium, fungus, or insect, that 

feeds on dead plant or animal matter. Detritivores are often invertebrate insects such 

https://biologydictionary.net/invertebrate/
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as mites, beetles, butterflies and flies; mollusks such as slugs and snails; or soil-

dwelling earthworms, millipedes and woodlice.Examples of detritivores in marine 

environments are crustaceans such as crabs and lobsters, echinoderms such as sea 

stars or sea cucumbers.( https://biologydictionary.net/detritivore/)  

 

79. The ‘Common Carbon Metric', supported by UNEP, has been developed 

for  

(a) assessing the carbon footprint of building operations around the world  

(b) enabling commercial fanning entities around the world to enter carbon emission 

trading 

(c) enabling governments to assess the overall carbon footprint caused by their 

countries  

(d) assessing the overall carbon foot-print caused by the use of fossil fuels by the 

world in a unit time  

Solution:A 

Explanation: Common Carbon Metric for Measuring Energy Use & Reporting 

Greenhouse Gas Emissions from Building Operations 

https://wedocs.unep.org/bitstream/handle/20.500.11822/7922/-

Common%20Carbon%20Metric%20for%20Measuring%20Energy%20Use%20an

d%20Reporting%20Greenhouse%20Gas%20Emissions%20from%20Building%20

Operations-20094112.pdf?sequence=3&isAllowed=y 

 Symbiosis in protozoa mostly represents a close mutualistic association between 

a protozoan and unicellular symbionts (bacteria, cyanobacteria or/and unicellular 

algae) or protozoans and a multicellular organism (ruminants, lower termites, 

wood-eating cockroaches, plants). 

https://biologydictionary.net/detritivore/
https://wedocs.unep.org/bitstream/handle/20.500.11822/7922/-Common%20Carbon%20Metric%20for%20Measuring%20Energy%20Use%20and%20Reporting%20Greenhouse%20Gas%20Emissions%20from%20Building%20Operations-20094112.pdf?sequence=3&isAllowed=y
https://wedocs.unep.org/bitstream/handle/20.500.11822/7922/-Common%20Carbon%20Metric%20for%20Measuring%20Energy%20Use%20and%20Reporting%20Greenhouse%20Gas%20Emissions%20from%20Building%20Operations-20094112.pdf?sequence=3&isAllowed=y
https://wedocs.unep.org/bitstream/handle/20.500.11822/7922/-Common%20Carbon%20Metric%20for%20Measuring%20Energy%20Use%20and%20Reporting%20Greenhouse%20Gas%20Emissions%20from%20Building%20Operations-20094112.pdf?sequence=3&isAllowed=y
https://wedocs.unep.org/bitstream/handle/20.500.11822/7922/-Common%20Carbon%20Metric%20for%20Measuring%20Energy%20Use%20and%20Reporting%20Greenhouse%20Gas%20Emissions%20from%20Building%20Operations-20094112.pdf?sequence=3&isAllowed=y


 
 

       40-1-50/1, 2nd Floor, Above Big C, Opp. BSNL Office, M.G.Road, VIJAYAWADA.Ph:9494 688188 
 

 Algae and fungi form a symbiotic association and are called lichen. In this 

relationship, algae produce food and fungi provide protection and anchoring of 

the body. 

 

80. Which of the following have species that can establish symbiotic relationship 

with other organisms?  

1. Cnidarians 

2. Fungi 

3. Protozoa 

Select the correct answer using the code given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

Solution: D 

Explanation: The symbiotic association between the invertebrate phylum Cnidaria 

(Coelenterate) and the unicellular dinoflagellate algae, called zooxanthellae, is very 

common.  

 Symbiosis in protozoa mostly represents a close mutualistic association 

between a protozoan and unicellular symbionts (bacteria, cyanobacteria 

or/and unicellular algae) or protozoans and a multicellular organism 

(ruminants, lower termites, wood-eating cockroaches, plants). 

 Algae and fungi form a symbiotic association and are called lichen. In this 

relationship, algae produce food and fungi provide protection and anchoring 

of the body. 
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81. The money multiplier in an economy increases with which one of the 

following?  

(a) Increase in the Cash Reserve Ratio in the banks 

(b) increase in the Statutory Ratio in the banks.  

(c) increase in the banking habit of the people  

(d) Increase in the population of the country  

Solution: C 

Explanation:  ( Money Multiplier in an economy increases with) 

UPSC 2019 also 

NCERT 12 th introduction to macroeconomics.  

Money multiplier= 1 / ( CRR) 

In a functional economy, money multiplier is always greater than 1. 

  It directly improves with reduction in CRR. 

 &It indirectly improves as economy develops, consumption / loan demand 

increases, banking 

 penetration, digital economy/less-cash economy etc. 

 In 1960s = less than 2x, 90s = more than 3x, At present = more than 5x. 

 

 

82. With reference to Indian economy, demand-pull inflation can be caused/ 

increased by which of the following?  

1. Expansionary policies 

2. Fiscal stimulus  

3. Inflation-indexing wages  

4. Higher purchasing power  

5. Rising interest rates 
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Select the correct answer using the code given below. 

(a) 1, 2 and 4 only

(b) 3, 4 and 5 only

(c) 1, 2, 3 and 5 only

(d) 1, 2, 3, 4 and 5

Solution:A 

Explanation: 

It’s ‘too much money chasing too few goods’ i.e. Prices are rising because 

people have excess money → demand for goods and services exceeds  

83. With reference to India, consider the following statements :

1. Retail investors through demat account can invest in 'Treasury Bills' and

'Government of India Debt Bonds' in primary market

2. The 'Negotiated Dealing System-Order Matching' is a government securities

trading platform of the Reserve Bank of India.

3. The 'Central Depository Services Ltd.' is jointly promoted by the Reserve Bank

of India and the Bombay Stock Exchange.

Which of the statements given above is tare correct? 

(a) 1 only

(b) 1 and 2

(c) 3 only

(d) 2 and 3

Solution: B 
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Explanation: 

The Negotiated Dealing System, or NDS, is an electronic trading platform operated 

by the Reserve Bank of India to facilitate the issuing and exchange of government 

securities and other types of money market instruments. The goal was to reduce 

inefficiencies stemming from telephone orders and manual paperwork, while 

increasing transparency for all market participants. 

 

84. With reference to ‘Water Credit’, consider the following statements:  

1. It puts microfinance tools to work in the water and sanitation sector 

2. It is a global initiative launched under the aegis of the World Health Organization 

and the World Bank. 3. It aims to enable the poor people to meet their water needs 

without, depending on subsidies. 

Which of the statements given above are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

Solution: C 

Explanation: Water Credit  

ANS B   ( This was not launched by WHO and World Bank ) 

 

85. In India, the central bank's function, as the 'lender of last  resort’ usually 

refers to which of the following? 

1. Lending to trade and industry bodies when they fail to borrow from other sources  

2. Providing liquidity to the banks having a temporary crisis 
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3. Lending to governments to finance budgetary deficits 

Select the correct answer using the code given below: 

(a) 1 and 2 

(b) 2 only 

(c) 2 and 3 

(d) 3 only 

Solution: B 

Explanation: 

Functions of RBI  

• acting as a lender of last resort in case of need As a lender of last resort, it can come 

to the rescue of a bank that is solvent but faces temporary liquidity problems by 

supplying it with much needed liquidity when no one else is willing to extend credit 

to that bank. The Reserve Bank extends this facility to protect the interest of the 

depositors of the bank and to prevent possible failure of the bank, which in turn may 

also affect other banks and institutions and can have an adverse impact on financial 

stability and thus on the economy. 

 

86. `R2 Code of Practices' constitutes a tool available for promoting the 

adoption of  

(a) environmentally responsible practices in electronics recycling industry  

(b) ecological management of ‘Wetlands of International Importance' under the 

Ramsar Convention  

(c) sustainable practices in the cultivation of agricultural crops in degraded lands  

(d) 'Environmental Impact Assessment' in the exploitation of natural resources  

Solution: A  
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Explanation: 

R2 stands for Responsible Recycling and is a standard specifically created for the 

electronics recycling industry by Sustainable Electronics Recycling International 

(SERI) 

 

87. Why is there a concern about copper smelting plants?  

1. They may release lethal quantities of carbon monoxide into environment.  

2. The copper slag can cause the leaching of some heavy metals into environment 

3. They may release sulphur dioxide as a pollutant. 

Select the correct answer using the code given below.  

(a) 1 and 2 only  

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3   

Solution: B 

Explanation: Copper smelters emit staggering amounts of toxic pollution: lead, 

arsenic and selenium  

As and SO2 are the pollutants which pose the biggest threat 

 

88. With reference to furnace oil, consider the following statements : 

1 It is a product of oil refineries.  

2. Some industries use it to generate power. 

3. Its use causes sulphur emissions into environment.  



 
 

       40-1-50/1, 2nd Floor, Above Big C, Opp. BSNL Office, M.G.Road, VIJAYAWADA.Ph:9494 688188 
 

Which of the statements given above are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only  

(c) 1 and 3 only  

(d) 1, 2 and 3  

Solution: D 

Explanation: Furnace oil is a dark colored fuel, either distilled or residual fraction of 

crude oil that is extracted while petroleum distillation and is used for the purpose of 

generation heat and power. This fuel is sticky, thick and glutinous in nature. Furnace 

oil is known by the name of fuel oil internationally and also as bunker fuel. Furnace 

oil is causing huge emission of sulphur dioxide and other 

(pollutantshttps://www.thehindu.com/news/national/ensure-ban-on-petcoke-and-

furnace-oil-ngt-directs-cpcb/article32112214.ece) 

 

89. What is blue carbon?  

(a) Carbon captured by oceans and coastal ecosystems 

(b) Carbon sequestered in forest biomass and agricultural soils  

(c) Carbon contained in petroleum and natural gas  

(d) Carbon present in atmosphere  

Solution: A 

Explanation:Blue carbon is carbon sequestration (the removal of carbon 

dioxide from the earth's atmosphere) by the world's oceanic and coastal ecosystems, 

mostly by algae, seagrasses, macroalgae, mangroves, salt marshes and other plants 

in coastal wetlands.( https://en.wikipedia.org/wiki/Blue_carbon) 

 

https://en.wikipedia.org/wiki/Carbon_sequestration
https://en.wikipedia.org/wiki/Carbon_dioxide
https://en.wikipedia.org/wiki/Carbon_dioxide
https://en.wikipedia.org/wiki/Marine_ecosystem
https://en.wikipedia.org/wiki/Seagrass
https://en.wikipedia.org/wiki/Macroalgae
https://en.wikipedia.org/wiki/Mangrove
https://en.wikipedia.org/wiki/Salt_marsh
https://en.wikipedia.org/wiki/Wetland
https://en.wikipedia.org/wiki/Blue_carbon
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90. In the nature, which of the following is/are most likely to be found surviving 

on a surface without soil?  

1. Fern  

2. Lichen 

3. Moss 

4. Mushroom  

Select the correct answer using the code given below.  

(a) 1 and 4 only  

(b) 2 only  

(c) 2 and 3  

(d) 1, 3 and 4  

Solution: C 

Explanation: 

Lichens grow on any undisturbed surface–bark, wood, mosses, rock, soil, peat, 

glass, metal, plastic, and even cloth. Moss thrives in moist and shady 

areas without any help from soil 

 

 

91. Consider the following statements : 

1. The Governor of the Reserve Bank of India (RBI) is appointed by the Central 

Government.  

2. Certain provisions in the Constitution of India give the Central Government the 

right to issue directions to the RBI in public interest. 
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3. The Governor of the RBI draws his power from the RBI Act.  

Which of the above statements are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only  

(c) 1 and 3 only  

(d) 1, 2 and 3  

Solution:C  

Explanation: Section 7 of RBI act  : 

The Central Government may from time to time give such directions to the Bank as 

it may, after consultation with the Governor of the Bank, consider it necessary in the 

public inter­est. 

 

92. With reference to casual workers employed in India, consider the following 

statements :  

1. All casual workers are entitled for Employees Provident Fund coverage. 

2. All casual workers are entitled for regular working hours and overtime payment.  

3. The government can by a notification specify that an establishment or industry 

shall pay wages only through its bank account.  

Which of the above statements are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only  

(c) 1 and 3 only  

(d) 1, 2 and 3  
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Solution: D 

Explanation: Employment (casual workers): 

As mentioned in the booklet of new labour code. 

Benefit of pension scheme (EPFO) to all workers of organized, unorganized and 

self-employed sectors. 

 

93. Which among the following steps is most likely to be taken at the time of an 

economic recession?  

(a) Cut in tax rates accompanied by increase in interest rate  

(b) Increase in expenditure on public projects  

(c) Increase in tax rates accompanied by reduction of interest rate  

(d) Reduction of expenditure on public projects  

Solution: B 

Explanation: Source : Ramesh singh 

The usual remedies are given below: (i) Direct and indirect taxes should be cut down, 

so that the consumers have higher disposable incomes (income after paying direct 

tax, i.e., income tax) on the one hand and the goods should become cheaper on the 

other hand, thus there is hope that the demand might pick up. (ii) The burden of 

direct taxes, especially the income tax, dividend tax, interest tax are slashed to 

enhance the disposable income (i.e., income after direct tax payment)— (iii) Salaries 

and wages should be revised by the government to encourage general spending by 

the consumers (as the Government of India implemented the recommendations of 

the fifth pay commission without much deliberation in 1996–97). (iv) Indirect taxes 

such as custom duty, excise duty (cenvat), sales tax, etc., should be cut down so that 

produced goods reach the market at cheaper prices. (v) The government usually goes 

on to follow a cheap money supply policy by slashing down interest rates across the 

board and the lending procedure is also liberalised. (vi) Tax breaks are announced 

for new investments in the productive areas, etc. All the above-given measures were 
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taken up by the United Front Government in 1996–97 to pull the economy out of the 

menace of the recession.  

 

94. Consider the following statements : 

Other things remaining unchanged, market demand for a good might increase if  

1. price of its substitute increases  

2. price of its complement increases  

3. the good is an inferior good and income of the consumers increases 

4. its price falls  

Which of the above statements are correct?  

(a) 1 and 4 only 

(b) 2, 3 and 4  

(c) 1, 3 and 4  

(d) 1, 2 and 3  

Solution: A 

Explanation: Demand for the good may increase if: Market Demand: Total Sum of 

all households’ demands 

Law of demand: Consumer’s demand for a good is inversely related to the price of 

the good. 

 

 

95. With reference to 'Urban Cooperative Banks' in India, consider the 

following statements : 

1. They are supervised and regulated by local boards set up by the State Governments 



 
 

       40-1-50/1, 2nd Floor, Above Big C, Opp. BSNL Office, M.G.Road, VIJAYAWADA.Ph:9494 688188 
 

2. They can issue equity shares and preference shares.  

3. They were brought under the purview of the Banking Regulation Act, 1949 

through an Amendment in 1966.  

Which of the statements given above is/are correct?  

(a) 1 only  

(b) 2 and 3 only   

(c) 1 and 3 only  

(d) 1, 2 and 3  

Solution: B 

Explanation: UCBs: Primary credit societies (PCSs) in urban areas that meet certain 

specified criteria can apply to RBI for a banking license to operate as urban co-

operative banks (UCBs). They are registered and governed under the co-operative 

societies acts of the respective states and are covered by the Banking Regulation Act, 

1949—thus are under dual regulatory control. So option A is incorrect. 

The recent amendment to the Banking regulation act made it easier for UCBs to raise 

shares. 

 

96. Indian Government Bond Yields are influenced by which of the following?  

1. Actions of the United States Federal Reserve  

2. Actions of the Reserve Bank of India  

3. Inflation and short-term interest rates  

Select the correct answer using the code given below.  

(a) 1 and 2 only  

(b) 2 only  
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(c) 3 only 

(d) 1, 2 and 3  

Solution: D 

Explanation: Indian Govt Bond yields :  When the United states Federal Reserve 

may vary the interest rates , that may affect the Indian government bond market 

yields in various ways. Similar action of RBI may also affect the yields.  Inflation 

and short term interest rates also affect the yields if they are not inflation indexed. 

 

97. Consider the following :  

1. Foreign currency convertible bonds  

2. Foreign institutional investment with certain conditions  

3. Global depository receipts  

4. Non-resident external deposits 

Which of the above can be included in Foreign Direct Investments?  

(a) 1, 2 and 3  

(b) 3 only 

(c) 2 and 4  

(d) 1 and 4  

Solution: D 

Explanation: FDI  Foreign institutional investors comes under FPI 

ADR and GDR are not part of FDI . 

 

98. Consider the following statements : 
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The effect of devaluation of a currency is that it necessarily  

1. improves the competitiveness of the domestic exports in the foreign markets  

2. increases the foreign value of domestic currency  

3. improves the trade balance  

Which of the above statements is/are correct? 

(a) 1 only 

(b) 1 and 2 

(c) 3 only 

(d) 2 and 3 

Solution: D 

Explanation: Devaluation  

In the foreign exchange market when the exchange rate of a domestic currency is cut 

down by its government against any foreign currency, it is called devaluation. It 

means official depreciation is devaluation. So its value has decreased. 

 

99. Which one of the following effects of creation of black money in India has 

been the main cause of worry to the Government of India?  

(a) Diversion of resources to the purchase of real estate and investment in luxury 

housing  

(b) Investment in unproductive activities and purchase of precious stones, jewellery, 

gold, etc  

(c) Large donations to political parties and growth of regionalism   

(d) Loss of revenue to the State Exchequer due to tax evasion   

Solution: D 
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Explanation: The main cause of worry due to black money to GOI is Tax evasion. 

 

100. Which one of the following is likely to be the most inflationary in its effects?  

(a) Repayment of public debt  

(b) Borrowing from the public to finance a budget deficit 

(c) Borrowing from the banks to finance a budget deficit  

(d) Creation of new money to finance a budget deficit  

Solution: D 

Explanation: Inflationary effects:  creation of new money by printing currency will 

reduce the value of money against the number of goods and services available. Thus, 

it leads to inflation 

 

 

 

 

 

 


